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int update ready prio( )

{
int pid,

pid = q[rdyhead].qnext,
if (pid >= NPROC)
if (pid == 0) pid = q[pid].qnext;
while (pid < NPROC) {
q[pid].qkey ++;
proctab[pid].pprio +1;
pid = g[pid].gnext;
}

return OK;

return OK;

/* the first process in the queue */
/* empty queue */
/* skip over the NULL process */
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SYSCALL  group_mutex_wait(int sem, int group_no)
{ -

int ps;

register struct sentry *sptr;

register struct pentry *pptr;

disable(ps);
if (isbadsem(sem) || (sptr = &semaph[sem])->sstate == SFREE) {
restore(ps);
return(SYSERR);,
}
i (sptr-ianside count == 0 | sotr->proun == crour no) {
(sptr->inside_count) ++;
sptr->group = group_no;
restore(ps);
return(OK),
}
(pptr = &proctablcurrpid])->petate = PRWAIT;
pptr-=psem = sem; :
enqueue(currpid,spts->sitail);
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SYSCALL group mutex_create( )
{

int ps, sem;

disable(ps);

if((sem = newsem()) == SYSERR) {
restore(ps);
return(SYSERR);

}

semaph[sem).inside_count = 0;

restore(ps);

return(sem);
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SYSCALL group mutex_signal(int sem )
{

int ps, pid, slist;

struct sentry *sptr;

disable(ps);
if (isbadsem(sem) || semaph[sem].sstate == SFREE) {
restore(ps),
return(SYSERR);
)
if (--semaph[sem].inside_count ==0) { /* the last process left */
if (semaph[sem].group == 1) semaph[sem].group = 2; /* change group */
else semaph[sem].group = 1;
sptr = &semaph[sem];
slist == spir->sqhiead,
while((pid = getfirst(slist)) != EMPTY) { /* release waiting processes */
ready(pid),
semaph[sem].inside count++;
)
resched();
¥
restore(ps);
return OK;
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void proc( )

{ .
int sem;
sem = screate(1);
wait(sem);
signal(sem);

printf(*“%d”, sem);
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#include<conf h>
#include<kernel .h>

void xmain( )
{ int pid],pid2,;
int func1(), func2(),
pid1 = create(funcl, INITSTK, INITPRIO+1, “procl”, 0);
pid2 = create(func2, INITSTK, INITPRIO+2, “proc2”, 1, pid1);

resume(pidl);
resume(pid2);
3
void funcl()
{ int msg;
printf(*“A”),
sy = recerve( ),
printf(“%c”, msg);
3
void func2( int pid )
{
printf(“B”);
sendf(pid, ‘C’);
sendf(pid, ‘D’);
3
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